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Jian Zhang

Mahout is the ML platform.

e Actively contributed by the community
¢ Provide Java ML math library equivalent to matlab/R
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Transparently integrate with Hadoop and map-reduce paradigm

Demo Mahout KMeans algorithm on Hadoop mapred and hdfs

e KMeans is an unsupervised learning clustering algorithm. KMeans algorithm as
follows
1. Initialize cluster centroids pp, pa. ... € B" randomly.

2. Repeat until convergence: {
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¢ Run Mahout Kmeans job

Input data -

E T T T

[1.000,

oo,

L L o T T 5




Demo regression algorithms

e Linear regression including multiple features and polynomial order

Linear regression is an approach to model the relationship between a scalar dependent
variable y and one or more explanatory variables denoted X
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e Locally weighted linear regression

Fit parameters to minimize a weighted L2 distance of original y and hypothesis y.
The weight is cosmetically similar to Gaussian density function
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e [ogistic regression

Logistic regression is a type of probabilistic classification model used for predicting
the outcome of a categorical dependent variable based on one or more feature
variables. Hypothesis function is a perceptron or sigmoid function
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